

4
[image: ]Year 12 ATAR Economics	

[image: ]

YEAR 12 ATAR Course Examination
Question/Answer Booklet    

ECONOMICS           Semester 2, 2021


Student Name:  __________________________________________
[image: ]
Student number:   

Time allowed for this paper
Reading time before commencing work: 	ten minutes
Working time for paper: 	three hours

Materials required/recommended for this paper
To be provided by the supervisor
This Question/Answer Booklet
Multiple-choice answer Sheet

To be provided by the candidate
Standard items: 	pens (blue/black preferred), pencils (including coloured), sharpener,
	correction fluid/tape, eraser, ruler, highlighters
Special items: 	non-programmable calculators approved for use in this examination
Important note to candidates
No other items may be taken into the examination room. It is your responsibility to ensure that you do not have any unauthorised material. If you have any unauthorised material with you, hand it to the supervisor before reading any further.

© 2021 Economics Teacher’s Association of Western Australia, all rights reserved
[image: ]


Instructions to candidates

1.	Write your answers in this Question/Answer booklet preferably using a blue/black pen. Do not use erasable or gel pens.

2. 	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice answer sheet provided. For each question, shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. Do not use erasable or gel pens. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Sections Two and Three: Write your answers in this Question/Answer Booklet.

3. 	You must be careful to confine your answers to the specific questions asked and to follow any instructions that are specific to a particular question.

4. 	Supplementary pages for planning/continuing your answers to questions are provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
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Section 1: Multiple Choice		24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer
sheet provided. For each question, shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. Do not use erasable or gel pens. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.
Suggested working time: 30 minutes
_____________________________________________________________________________

1.	What is the least likely outcome for participating countries of a move towards freer trade?
(a) 	A greater product choice
(b) 	A more equal distribution of income
(c) 	Greater international specialisation
(d) 	Higher standards of living

2.	Which of the following was least affected by the global health crisis of 2020-21?
(a)	Trade in goods
(b)	Trade in services
(c)	Labour mobility
(d)	Immigration

3.	Australia’s international competitiveness would decline if
(a) 	the nation’s trade intensity was increased.
(b) 	wage costs rose faster than productivity.
(c) 	the trade weighted index fell.
(d)	industry subsidies and tariffs were reduced.

4. 	A reason why governments may protect a domestic industry is because the 
(a) 	total gain to all producers is larger than the total loss to all consumers.
(b) 	total gain to all producers is smaller than the total loss to all consumers.
(c) 	gain per producer is larger than the loss per consumer.
(d) 	gain per consumer is larger than the loss per producer.

5. 	What is the infant-industry argument for protection from international trade?
(a) 	Domestic firms must be protected until they gain a comparative advantage.
(b) 	Any firm necessary in wartime must be protected. 
(c) 	Foreign producers selling below cost to drive domestic firms bankrupt must be stopped.
(d) 	Domestic jobs must be protected from competition from low-paid foreign workers. 
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6. 	Which of the following statements are true?
i.	When the world price of a good is lower than the price that balances domestic supply and demand, a country gains from exporting the good.
ii.	Compared to a no-trade situation, imports make consumers better off.
iii.	Tariffs raise the domestic price of imported goods. 
(a) 	i and ii
(b) 	ii and iii
(c) 	i and iii
(d) 	i, ii and iii

7.	What is least likely to change an economy’s terms of trade?
(a) 	Its level of labour productivity
(b) 	Its rate of inflation
(c) 	The maintenance of a stable foreign exchange rate
(d) 	The occurrence of random supply shocks

8.	Australia pays interest on its foreign debt. How will this transaction be recorded in Australia’s Balance of Payments (using the double entry accounting system)?
i. 	Credit in the current account 
ii. 	Debit in the current account
iii. 	Credit in the financial account
iv. 	Debit in the financial account
(a)	i only
(b)	ii only
(c)	i  and iv
[bookmark: _GoBack](d)	ii  and  iii

9.	An increase in Australia’s current account balance is most likely to occur when
(a) 	Australia’s economic growth rate increases.
(b)	the import price index rises.
(c)	the Australian dollar appreciates.
(d) 	the export price index rises.

10. 	Which of the following is most likely to cause a rightward shift in the demand curve for Australian dollars in exchange of the Chinese yuan? 
(a) 	An increase in the demand for Australian products in China.
(b) 	A decrease in the demand for Australian products in China.
(c) 	An increase in the demand for Chinese products in Australia. 
(d) 	A decrease in the demand for Chinese products in Australia. 
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11.	What is likely to happen if there is an appreciation in a country’s currency?
(a) 	A fall in the foreign currency price of its exports.
(b) 	A rise in the domestic currency price of its imports. 
(c) 	A rise in the volume of its imports.
(d) 	A rise in the domestic price level.

12. 	An Australian citizen buys a factory in the United States. This is an example of 
(a) 	a decrease in Australia’s foreign assets.
(b) 	an increase in Australia’s foreign liabilities.
(c) 	foreign portfolio investment.
(d) 	foreign direct investment.

13.	When a recession is triggered by a(n) ________ in autonomous expenditure, real GDP _________ than aggregate planned expenditure and firms’ inventories ________.  
(a) 	decrease; is less; decrease
(b) 	decrease; is greater; increase
(c) 	increase; is less; decrease
(d) 	increase; is greater; increase

14.	During 2021, the Australian economy experienced rising output, rising employment, rising incomes and falling unemployment. These conditions best describe a business cycle 
(a) 	expansion.
(b) 	peak.
(c) 	contraction.
(d) 	trough.

15. 	According to the consumption function, as a household's disposable income increases, its autonomous expenditure ________ and its induced expenditure ________.
(a) 	increase; do not change
(b) 	decrease; do not change
(c) 	do not change; increase by a smaller amount than the increase in income
(d) 	increase; increase by a smaller amount than the increase in income

16. 	A $15 billion increase in investment leads equilibrium income to increase from $700 billion to $737.5 billion. The mpc must equal
(a) 	2.5.
(b) 	1.5.
(c) 	0.6.
(d) 	0.4.
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17. 	The multiplier is 
(a) 	less than 1 only if the mpc is less than 1.
(b) 	greater than 1 only if the mpc is greater than 1.
(c) 	equal to 1 if the mpc is equal to 1.
(d) 	greater than 1 if the mpc is less than 1.

18.	If the Reserve Bank raises the cash rate, eventually the
(a) 	aggregate supply curve shifts leftward, decreasing real GDP and increasing the price level.
(b) 	aggregate demand curve shifts rightward, increasing real GDP and the price level.
(c) 	aggregate demand curve shifts leftward, decreasing real GDP and the price level.
(d) 	aggregate supply curve shifts rightward, decreasing real GDP and increasing the price level.

19.	Along the aggregate demand curve, as the price level decreases, real wealth (income) _________ , purchasing power _________ , and real GDP _________ .
(a)	increases, decreases, increases
(b)	increases, increases, increases
(c)	decreases, decreases, decreases
(d)	decreases, increases, decreases

20.	The aggregate supply curve will shift to the left if
(a)	energy prices fall.
(b)	productivity increases.
(c)	the capital stock increases.
(d)	input prices increase.

21.	The longest economic policy lag for monetary policy is the
(a)	effect lag.
(b)	recognition lag.
(c)	decision lag.
(d)	implementation lag.

22.	Suppose the government is considering cutting taxes by $20 billion or increasing government spending on goods and services by $20 billion. Then 
(a) 	both policies would increase aggregate demand by the same amount.
(b) 	both policies would increase aggregate demand but the tax cut has a smaller effect.
(c) 	both policies would increase aggregate demand but the increase in government spending has a smaller effect.
(d) 	the tax cut would decrease aggregate demand and the increase in government spending would increase aggregate demand.
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23.	Labor productivity refers to the quantity of goods and services that can be produced
(a) 	by the entire labor force.
(b) 	in the entire economy in one year.
(c) 	by one worker or by one hour of work.
(d) 	by all employed workers.

24.	What two factors are the keys to determining labour productivity?
(a) 	The business cycle and the growth rate of real GDP
(b) 	The growth rate of real GDP and the interest rate
(c) 	The average level of education of the workforce and the price level
(d) 	Technology and the quantity of capital per hour worked



_____________________________________________________________________________











End of Section One
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SECTION 1: MULTIPLE CHOICE
(Either place a cross over the correct answer or shade in the correct answer)


	1
	A
	B
	C
	D
	
	13 
	A
	B
	C
	D

	2
	A
	B
	C
	D
	
	14 
	A
	B
	C
	D

	3
	A
	B
	C
	D
	
	15 
	A
	B
	C
	D

	4
	A
	B
	C
	D
	
	16 
	A
	B
	C
	D

	5
	A
	B
	C
	D
	
	17
	A
	B
	C
	D

	6
	A
	B
	C
	D
	
	18
	A
	B
	C
	D

	7
	A
	B
	C
	D
	
	19
	A
	B
	C
	D

	8
	A
	B
	C
	D
	
	20
	A
	B
	C
	D

	9
	A
	B
	C
	D
	
	21
	A
	B
	C
	D

	10
	A
	B
	C
	D
	
	22
	A
	B
	C
	D

	11
	A
	B
	C
	D
	
	23
	A
	B
	C
	D

	12
	A
	B
	C
	D
	
	24
	A
	B
	C
	D
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Section Two: Data interpretation/Short response                                36% 	(36 Marks)
This section contains three (3) questions. Answer all questions. Write your answers in the
spaces provided.
Supplementary pages for planning/continuing your answers to questions are provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number. 
Suggested working time: 70 minutes.
_____________________________________________________________________________

Question 25 	(12 marks)
[image: ]This question refers to the following graph showing Australia’s export and import price indices.

(a)i 	How is the terms of trade calculated?	(1 mark)
_____________________________________________________________________________
_____________________________________________________________________________

(a)ii	In which quarter did Australia’s terms of trade decline? 	(1 mark)
_____________________________________________________________________________ 
(a)iii	Calculate Australia’s terms of trade for the March quarter 2021.  	(1 mark)
_____________________________________________________________________________ 	 
_____________________________________________________________________________
_____________________________________________________________________________
See next page
(b)	Explain why a rise in the terms of trade is referred to as a ‘favourable movement’.  		(2 marks) 
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________

(c)	Account for the change in Australia’s terms of trade between March 2020 and March 2021.		(3 marks) 
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
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(d)	Outline four effects of a rise in the terms of trade on the Australian economy.   	(4 marks)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
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Question 26 	(12 marks)
This question refers to the information below. 
Australian Government Budget Balance
As a result of the government’s substantial economic stimulus, the economy is recovering strongly from its first recession in almost 30 years, growing at its fastest pace on record over the latter half of 2020. In the 2021-22 Budget the Government is continuing to provide support to Australian households and businesses to drive the unemployment rate down. Key measures include: 
· $7.8 billion to extend tax relief to low- and middle-income earners 
· $20.7 billion in tax relief for businesses 
· $15.2 billion in new commitments to infrastructure projects across Australia.
Source: Statement 1, Budget Overview 2021-21.

	
	Receipts $b
	Payments $b
	Underlying cash balance $m
	Unemployment rate %

	2018‑19
	477.4
	478.1
	‑0.7
	5.0

	2019‑20
	464.4
	549.6
	‑85.2
	6.9

	2020‑21 (e)
	499.8
	660.8
	
	5.5

	2021‑22 (e)
	482.1
	588.7
	
	5.0

	2022‑23 (e)
	494.0
	593.3
	
	4.7



(a) i	Identify the year in which the estimated budget deficit is the highest.	(1 mark)
_____________________________________________________________________________
(a) ii	Provide a reason for your answer in (a) i.	(1 mark)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
(b) 	Explain the main method the Australian government uses to finance a budget deficit. 		(2 marks)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
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(c)	Explain why the budget deficit is expected to fall after 2020-21. 	(3 marks)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
	
(d) 	Use the AD/AS model to explain how the government’s new commitments to infrastructure projects will help to “drive the unemployment rate down”.	(5 marks) 
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
[image: ]_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
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Question 27 	(12 marks)
This question refers to the graph below showing Australia’s quarterly real GDP.
[image: ]

(a) i.	Estimate the fall in the level of real GDP in the June qrt 2020. 	(1 mark)
_____________________________________________________________________________

(a) ii.	What was the quarterly growth rate of real GDP in the March qrt 2021. 	(1 mark)
_____________________________________________________________________________

(a) iii.	In which period was the Australian economy in a recession?	(1 mark)
_____________________________________________________________________________

(b)	Other than real GDP, outline two economic indicators that would have decreased and two economic indicators that would have increased during the recession period.  	(4 marks)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
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_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________

(c)	Use a model to explain the change in Australia’s business cycle after the June qrt 2020. 		(5 marks)
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
[image: ]_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________
_______________________________


End of Section Two


Section Three: Extended response 40% (40 Marks)
This section contains four (4 ) questions. Answer two (2) questions. Write your answers in the lined pages provided and number your answers clearly.
Supplementary pages for planning/continuing your answers to questions are provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
Suggested working time: 80 minutes.
_____________________________________________________________________________
Question 28 	(20 marks)

The current account surplus reached another record high in the March quarter 2021.
(a) 	Distinguish between the two main balances in the current account and describe the trends in these balances since 2019. 	(10 marks)
(b)	Discuss the cyclical and structural factors that have contributed to Australia’s record current account surplus.	(10 marks)
_____________________________________________________________________________
Question 29	(20 marks)

(a)	Explain the meaning and importance of the trade weighted index and discuss the impacts of a rise in the trade weighted index on the Australian economy.	(10 marks)
(b)	Use a model to explain the effect of each of the following on Australia’s exchange rate:
i.	A fall in commodity prices
ii.	A rise in Australia’s interest rate differential	(10 marks)
_____________________________________________________________________________
Question 30 	(20 marks)

(a)	Use the aggregate expenditure model to explain how macroeconomic equilibrium is determined if spending does not equal output.	(8 marks)
(b)	Define the multiplier and explain what determines its value. Using a model explain how each of the following would affect the equilibrium level of income:
	i.	a decrease in the marginal propensity to save and 
	ii.	a decrease in household wealth.	(12 marks)
_____________________________________________________________________________
Question 31 	(20 marks)

(a)	Outline the economic policy objectives of the Reserve Bank of Australia with reference to the current state of the economy. 	(8 marks)
(b)	Explain how monetary policy works to affect the level of economic activity and discuss its current effectiveness.	(12 marks)
_____________________________________________________________________________
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